normalized X2

[ normalized x? probability |

=l 3
10 0.045F
0.04f
107? E
E 0.035F
ook 0.03F
0.025f
107 [ 0.02F
0.015f B
w0} 0.01 i
] 0.008 | " ‘ ‘
[ i i ° D | | |
T f
$ \Il\ TR
1 HILEL L
09¥0—2"4 6 8 10 12 14 16 18 20 09%9-0.10.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
X Prob(x?)

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

<dpp. > (%)

=== HQM_V0001_R000000001__Global__mkFit_CAND100stable

s=e==_DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable

2.5 > S
> E
A 4F
A
2 = 3F
- E
S %
15 Voo
oF-
- -
_22_
05 -3f-
,42_
1.0 o AXIE’:
T
o
1 = -
095 09535 0 1 3
TP n (PCA to beamline)
A E
1.8 2 18F-
1.6 < 1.6f-
v E
1.4F 1.4F-
1.2F 1.2F
- -
0.8 0.8F-
0.6F 0.6F
0.4F 0.4F
0.2F : 0.2F
LoF | l o GF
T
@
i S— 0.5F
o 1l0 1(l)2 0* 10° 1072 107
&T AR(track, jets)
“
oF-
-
_2;_.
_3;_.
—af-
~E | |
1 S
0.95 . . .
107 10 10% Jo



	Contents
	Page 1


